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#include <turtle.h>

main()
{

double a;

a = 300 / 1.41421;
tForward(a) ;
tTurn(135) ;
tForward (300) ;
tTurn(135) ;
tForward(a) ;
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double a;
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= 300 / 1.41421;
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double a;

a = 100;
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tForward(a);
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double a;

a = 100;
tForward(a / 3);
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var2.c —

#include <turtle.h>

main()
{

double a;

a = 300 / 1.41421;
tForward(a);
tTurn(135) ;

a = 300;
tForward(a) ;
tTurn(135) ;
a=a/ 1.41421;
tForward(a);
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TIN5 a DIlE Ta = 300;] TRAINZ (FEEAED) 300 THBHZ LIZTHERLTLZI W,
AE —

BHOERE[ED CTulILTE BHEVSOBMES ZLWTEEY, T NITH DA
BT TlEWE T, ROTB I LEXI130 varl.c LRAUKEZH#<EDTT,

var3.c —

#include <turtle.h>

main()

{
double a, b, c;
a = 300;
b =a/ 1.41421;
c = 135;
tForward(b) ;
tTurn(c) ;
tForward(a);
tTurn(c) ;
tForward(b) ;
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double a;
double b;
double c;
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#include <turtle.h>

main()
{
double hypotenuse, leg, angle;

hypotenuse = 300;

leg = hypotenuse / 1.41421;
angle = 135;

tForward(leg) ;
tTurn(angle) ;

tForward (hypotenuse) ;
tTurn(angle) ;
tForward(leg) ;
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HSUET, 20D int H C 70T I LD FHGED—DTT, int I integer (BEEN) &\ S HHLFE
ICHRUTWE T, BRUEOZBADRAR, BEMOZHDOMEOSIIL, EBEOEHLFU &
SIWIZTEET, DT T L% varl.c LRIU=ZAFEZHESET,

var5.c —

#include <turtle.h>

main()
{
double leg;

int hypotenuse, angle;

hypotenuse = 300;

leg = hypotenuse / 1.41421;
angle = 135;

tForward(leg) ;
tTurn(angle) ;




tForward (hypotenuse) ;
tTurn(angle) ;
tForward(leg) ;

hypotenuse X angle |[FEBUHDOELIZT B I LN TE EI2N

leg = hypotenuse / 1.41421;
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click.c —
#include <turtle.h>
main()
{
int x, y; DLtz m
~
tGetClick();

x = tClickX();

y = tClickY();

tForward (x) ;

tTurn (90) ;

tForward(y) ; RS
tTurn(90) ; S
tForward(x) ;

tTurn(90) ;

tForward(y) ;
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tClickX();
tClickY();
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#include <turtle.h>

main() 9oLtz
{ -
tGetClick();
tForward(tClickX());
tTurn(90) ;
tForward (tClickY());
tTurn(90) ;
tForward (tClickX()); &
tTurn(90) ; a

tForward (tClickY());
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tMoveTo (TR, yRERE) ;
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moveto.c —

#include <turtle.h>

main() ‘\\

{ 2 Lt=m
tGetClick(); (7m2)
tMoveTo (tClickX (), tClickY());
tGetClick(); 9y Lt=8A
tMoveTo (tClickX (), tClickY()); (FMD1)

fa— E S
tMoveTo (0, 0); R

}
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tPenUp() ;
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tPenDown() ;
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pen.c —
#include <turtle.h>
main() 50
{ 8 =
tGetClick(); ..
5 — .
tPenUp() ; DUyt K




tMoveTo (tClickX (), tClickY());
tPenDown () ;

tTurn(-30) ;

tForward (50) ;

tTurn(120) ;

tForward(50) ;

tTurn(120) ;

tForward (50) ;
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